
th;f;f%yk;

rJu vz; vd;gJ vz; xd;iw mNj vz;zhy; ngUf;f tUtjhy; cz;lhFk; vz;fs;

  MFk;.

c + k; :- 1 X 1 = 12 =1

     2 X 2 = 22 =4

     3 X 3 = 32 =9

.

.

.

        n X n= n2

epiwth;f;f vz;fs; vd;gJ Neh;KO vz; xd;iw mNj Neh;KO vz;zhy; ngUf;fpg;

  ngwg;gLk; vz;fs; MFk;.

1>2>3>4> _ _ _ vd;Dk; vz;fspd; epiwth;f;f vz;fs; 1>4>9>16> _ _ _  MFk;.

c + k; :-

6 ,d; epiwth;f;f vz; ahJ?

 6 X 6 = 36

epiwth;f;f vz; xd;wpd; xd;wpdplj;J ,yf;fk; fhZk; Kiw

  vz;      1    2   3   4    5    6   7   8   9    10

  epiwth;f;f vz;      1    4   9   16   25   36   49  64   81  100

  epiwth;f;f vz; xd;wpd; 1    4   9   6    5    6   9   4    1   0

  xd;wpdplj;J ,yf;fk;

xU epiwth;f;fj;jpd; xd;wpdplj;J ,yf;fk; 1>4>5>6>9>0 vd;Dk; ,yf;fq;fspy; xd;whf

mikAk;.

2>3>7>8 vd;Dk; ,yf;fq;fs; xU NghJk; epiw vz; xd;wpd; th;f;fj;jpd; ,Wjp

,yf;fkhf mikahJ.

c + k; :- 832 xU epiwth;f;f vz;zh?

832 ,y; xd;wpdplj;J ,yf;fk; 2 MFk;.

Xh; vz;zpd; xd;wpdplj;J ,yf;fk; 2>3>7>8 vdpy; mt; vz; epiwth;f;f

vz;zhfhJ. MfNt 832 xU epiwth;f;f vz; ,y;iy
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xU vz; epiwth;f;f vz;zhFk; NghJ mjd; th;f;f%yk; fhZjy;

vz; xd;wpd; th;f;f%yj;ijf; fhl;Ltjw;F “ “ vd;Dk; FwpaPL

   gad;gLj;jg;gLk;

4 ,d; epiwth;f;fk; 4 X 4 = 42 = 16  vdpy;

16 ,d; th;f;f%yk; 4 MFk;.

7 ,d; epiwth;f;fk;  49  vdpy;

49 ,d; th;f;f%yk; 7 MFk;.

 ,jw;Nfw;g

16 ,d; th;f;f%yk; = =  42  =  4

36 ,d; th;f;f%yk; = =  62  =  6

100 ,d; th;f;f%yk; = =  102  =  10

gapw;rp

1. 1 njhlf;fk; 100 tiuAs;s rJu vz;fis vOJf?

2. epiwth;f;f vz;fs; vd;why; vd;d? Kjy; 5 epiwth;f;f vz;fis vOJf?

3. rJu tbtg; gyifapd; gf;fk; xd;wpd; ePsk; 9cm vdpy; mg; gyifapd;

  Nkw;gug;gpd; vz;rhh;e;j ngWkhdk; epiwth;f;f vz;zhFk; vdf; fhl;Lf?

4. 60 ,w;Fk; 120 ,w;Fk; ,ilapYs;s epiwth;f;f vz;fis vOJf?

5. xU epiwth;f;fj;jpd; xd;wpdplj;J ,yf;fq;fshf mikAk; vz;fisj; jUf?

6. 347 xU epiwth;f;f vz;zhFkh? fhuzk; jUf?

7. 11 ,d; epiwth;f;f vz; ahJ?

8. 64 ,d; th;f;f%yj;jpd; ngWkhdk; ahJ?

9.  144 ,d;; ngWkhdk; ahJ?

10. xU rJutbtg; G+g;ghj;jp xd;wpd; gug;gsT 121m2 vdpy; mg; G+g;ghj;jp

   xd;wpd; xU gf;f ePsj;ijf; fhz;f?
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Kjd;ik fhuzpfs; %yk; epiwth;f;f vz;zpd; th;f;f%yk; fhZjy;

Kjd;ik vz;fs; vd;gJ ,U fhuzpfis kl;Lk; nfhz;l vz;fs; MFk;.

Kjd;ik vz;fs; :- 2>3>5>7>11>...

 c + k; :-  36 ,d; ngWkhdj;ij Kjd;ik fhuzpfs; %yk; fhZjy;

Kiw 1

36 = 2 X 2 X 3 X 3

      = ( 2 X 3) X  ( 2 X 3)

   = ( 2 X 3)2

36 =  ( 2 X 3)2

       =   ( 2 X 3)

       =    6

gapw;rp

1. 1 ,w;Fk; 15 ,w;Fk; ,ilg;gl;;l Kjd;ik vz;fisj; jUf?

2. 16 I Kjd;ik fhuzpfspd; ngUf;fkhf vOjpf; fhl;Lf?

3. ngWkhdk; fhz;f?

1.      (2 X 3 X 5) 2 2.    2 X 2 X 3 X 3 X 3

3.  3 X 3 X 5 X 5

4. Kjd;ik fhuzpfs; %yk; th;f;f%yj;ijf; fhz;f?

1.  625 2. 900 3. 196

5. 122 - 42  =  ( 12 + 4) (12 - 4)  cz;ik vdf; fhl;Lf?

3    3

3    9

2   36

      1

2   18

Kiw 2

36 = 2 X 2 X 3 X 3

      = ( 2 X 3) X  ( 2 X 3)

   = ( 2 X 3)2

       =  62

    36 =  62

            =  6
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